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i BT R Fuhk b R
AP i ?ﬁ" 113% & 113% & 114a & 1142 & 1134 & 113% 2 142 & 142 &
9/3~4 T iaig T iaiE 9/9~3 T iaig T iaig
SOy p T 357E ppm — 0.0018 0.0018
SOy /] T 35 1E ppm 0.075 0.0023 0.0021
NOyp L 32iE ppm — 0. 0250 0.0175
NOy#x + /] P T 3508 ppm — 0. 0489 0. 0442
COp TiaiE ppm — 0.30 0.30
CO$x + /] T 3218 ppm 35 0.40 0.40
CO 8/ p&T 3o+ iE ppm 9 0.30 0.30
THCp T2 ppm — 2.6 2.2
THCE =+ /| prT 3518 ppm — 4.6 2.3
TSP 24/ p¥ it v/’ — 47 22
TSP+ & 24-) pF it ﬂg/ms — 3. 9E-03 2.2E-03
G4 %S0, 24/ pFiE ug/m — 4.02 2.49
TSP# & 24 pFig ng/m’ — 1. 48E-05 1. 49E-05
Tz pgl-TEQ/m’| — 0.007 ND
BARPTIEE c — 19.4 17.4
BRPTEE % — 95 100
Boigp LTiE mn/s — 1.3 1.3
ko pTioE — — #* [
2 F ¢ HCL 24/) P e ppm — 1. 26E-03 1. 26E-03
] M2k pEelz @ ND A > HaEp H 22 plielEs o (MDL) - # MDL fE4e™ #75% :

113# A& :TSP? & (Pb) MDLi& = 0.105 pge + 4 ¢ & & (HCl) MDL&E = 0.190 pg
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2341 2FRFERFRREL (PESRCERAL) (T/10)
B oo u it £ BB
7 p e | FEIH 3
" = ® 113# & 113# B 114# B 114# B 113# & 113# B 114# & 114# B
2/1~2 T iaig T iaiE 92/1~2 T iaig T iaig
SO0, p T 5iE ppm — 0.0016 0.0029
SOy d & /] pET 320 ppm 0.075 ] 0.0024 0.0036
NOyp *32ie ppm — 0. 0238 0. 0252
NOydn & /] P& T 3278 ppm — 0.0722 0.0976
COp TiaiE ppm — 0.50 0.60
COE =+ | T 32 ppm 35 1.00 0.90
CO 8/ p&T 3ok + (& ppm 9 0.60 0.70
THCp T 32iE ppm — 2.3 2.5
THCH. = /| P& T 32 i ppm — 2.7 3.0
TSP 24/ p* & va/m’ — 51 46
TSP+ & 24-) pF it we/m’ — 1. TE-02 1. 1E-02
74 S0, 24 pEiE rg/Nn® — 5.47 5.3
TSP# & 24| p& & ug/mg — 3. 10E-05 2. 10E-05
T3 pel-TEQ/m’| — 0.095 0.016
BREPTHE c — 21.0 21.9
BRPTBE % — 7 817
b p Lo n/s — 0.3 1.0
ko p TioiE - — Pl kS
z %f ¢ [Cl 24/ pFig ppm — 1. 31E-03 1. 29E-03

] M2k pEelz @ ND A > HaEp H 22 plielEs o (MDL) - # MDL fE4e™ #75% :

113# A& :TSP? & (Pb) MDLi& = 0.105 pge + 4 ¢ & & (HCl) MDL&E = 0.190 pg
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HT R ¥R
ap i Fj@lﬁ 113# B 113# B 114# B 114# B 113# & 113 B 114# & 114 &
2/1-2 T 3o z3a@ ([ 9/9-3 TyaE TynE
NORESSY ppm — 0. 002 0.0012
SOpde % - PFL 218 ppm 0.075 | 0.0029 0.0013
NOxp  $5i8 ppm — ] o0.0286 0. 0064
NOxde & - P52 3018 ppm — ] o.0824 0.0146
COp TLizE ppm — 0. 50 0.30
00+ /| P& 3018 ppm 35 0.80 0. 60
00 8] P 3od & & ppm 9 0. 60 0. 40
THCR = 321 ppm — 2.3 2.2
THOS + /| & T 3218 ppm — 2.8 2.2
TSP 24| & i we/n’ — 69 8
TSP 42 24-] p¥ & we/m’ — | toE-02 1. 1B-03
G F S0, 24 i wg/Nn® — 7.25 1.40
TSP# & 24.] p¥ & g/t — | 210805 2. 00E-04
fE3 pgl-TEQ/m*| — 0.021 0.028
BRPT6E c — 20.7 16.5
ERPTIE % — 87 97
B pTiiE m/s — 0.7 0.3
Bowep T — — AR -
z ﬂ? ¢ [Cl 24/ pFig ppm — 1. 27E-03 1. 27E-03

] M2k pEelz @ ND A > HaEp H 22 plielEs o (MDL) - # MDL fE4e™ #75% :

113# A& :TSP? & (Pb) MDLi& = 0.105 pge + 4 ¢ & & (HCl) MDL&E = 0.190 pg
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AP wp | FHE 113% & 113&2#? 114a & VES
¥ 2/3-4 T 3o T 3o
S0y 0 T 320 ppm — 0.0018
SOpde % - PFL 218 ppm 0.075 | 0.0024
NOyp 350 ppm — ] o0.0229
NOxde & - P52 3018 ppm — ] o.0420
COp TLizE ppm — 0. 40
CO% =+ | T 300 ppm 35 0.60
00 8] P 3od & & ppm 9 0.40
THCp T2 ppm — 2.3
THOS + /| & T 3218 ppm — 3.0
TSP 24| & & va/m’ — 56
TSP? 4y 24-] p¥ it we/n’ — | 5.18-08
ZF S0, 24 B wg/Nn — 3.82
TSP# & 24| p& & ug/mg — 1. 5E-05
fE3 pgl-TEQ/m*| — ND
BAEPTIE T — 19.6
ERPTIE % — 88
ki p TioE n/s — 0.5
b p LioiE — — [
2§ ¢ HCL 24 i ppm — | 154808

] M2k pEelz @ ND A > HaEp H 22 plielEs o (MDL) - # MDL fE4e™ #75% :

113# A& :TSP? & (Pb) MDLi& = 0.105 pge + 4 ¢ & & (HCl) MDL&E = 0.190 pg
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';»:_}LHE B ® R TR BEE R R A
AP 8 ?ﬁT 113& B 1134 & 114& B 114# B 113& B 1134 B 114= B 4% B
9/3~4 I ¥aiE I ¥aiE 9/9~3 R =N REE =N
f 3 pgl-TEQ/m’ 0.010 0.004
2.7 k7 F R plEAR D F AR .
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